A x? 4+ 2x+3=a(x-1)? +bx+c7F xof gt
&5

e el He s
a, b, O = FT W, a+b+cof 27
@ 4 @5 ® 6 @7 © 8

B

SHE ANt FHRFOR Fecl,

¥ +2x+3=a(x-1)2+bx+c
=ax®*+(b-2a)x+a+c

a=1,b-2a=2, a+c=3

a=1, b=4,c=2

at+b+c=7




A f(x) = —4x% + kx + 17F QA4 x - 1 2 po] Do] 225
&4 k9] Zt= otolt,

fx)=-4+kx+1=(x-1)Q(x)
f)=-4+k+1=0
k=3

>~




@ o @ 16 @32 @ 64 ® 1024

(4x° = 3x + 1)° & 7St xofl tish WA 0 = eshd
(4x% = 3x 4+ 1)%= apx'® + a1 x° + axx® + - - - + agx + ajo & 70|
Hrt

A7|A BE AFES &

ap+ay +az + - +ay= 7Y

x =15 tf3istd At

%, (4-3+1)° =ap+a;+ax+---+a

HEASFEY &2 25 =32




A o2 Wrglg o] L 2|7} x—20] 9Lk,
F()E (x+3) 02 LHF9LE 1o L 4|8 Fahut?

f(x)=(x+3)(x=6)0(x) + x— 20| B2
£(-8) =5




10|t} o]
DO x+3 @—x—i—i’) ® x-3
@ —x-3 ® —x+1

F)Ex-1, x—22 Lhe UeAE 22t 2, 10|22
f(1) =2,£(2) = 1, 75t= UHAE ax + b} SHAL
f(x)=(x*-3x+2)0(x) +ax+b
=(x-1)(x-2)0(x)+ax+b
o 27t x = 1, x = 28 elakA
a+b=2, f(2)=2a+b=1

sto] A5t H a=-1,b=3
~F3h Yol —x+ 3

4
it
o |
re
ol




6.

x of tRt oA 4x® - 302 +ax+b 7Hx+1)(x-3) =
a+ b9 & Asteiet.

> E:

> =g -37

B

P(x) = 4x3 = 3x% + ax + b=} 5tAL P(x) 7}
(x+1)(x=3)= Q1= 7HA 2™
P(-1)=P(3)=0

P(-1)=-4-3-a+b=0 .. a-b=-7
P(3)=108-27+3a+b=0 .. 3a+b=-81
Soa=-22, b=-15




